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Instructions
• Use blue or black ink or ball-point pen.  You may use pencil for maps,

diagrams and graphs.
• Fill in the boxes at the top of this page.
• Answer all questions.
• Answer the questions in the spaces provided.
• Do all rough work in this book.  Additional lines have been included

so that you can cross through any work you do not want to be marked.
You do not have to fill all of the space provided to gain maximum
marks.

• Give sketch maps, diagrams and specific examples, where appropriate.

Information
• The maximum mark for this paper is 60.
• The marks for questions are shown in brackets.
• You are expected to use a calculator where appropriate.
• You will be marked on your ability to use an appropriate form and

style of writing, to organise relevant information clearly and
coherently, and to use specialist vocabulary where appropriate.  The
legibility of your handwriting and the accuracy of your spelling,
punctuation and grammar will also be considered.

For this paper you must have:

● the colour insert (enclosed).

You may use a calculator.
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Answer all questions in the spaces provided.

Total for this question: 17 marks

1 (a) Study Figure 1 on the colour insert.

Compare the relative importance of fossil, nuclear and renewable fuels in generating
electricity in the UK, France, Germany and Italy with that for the EU as a whole.
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Question 1 continues on the next page
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1 (b) Acid deposition and the emission of greenhouse gases are two issues that have resulted
from harnessing energy.
Describe the causes of these issues and the strategies that have been adopted to
address them.
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Total for this question: 16 marks

2 (a) Describe and suggest reasons for changes in the weather as a depression passes over a
place in the British Isles.
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2 (b) The weather associated with an anticyclone is different from that associated with a
depression.
How and why is the weather different?
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Total for this question: 17 marks

3 (a) Study Figures 2a and 2b on the colour insert.

3 (a) (i) Outline changes in age structure and household composition that have taken
place in the last 30 years in the UK which have encouraged the development of
the two types of housing shown in the photographs.
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3 (a) (ii) What factors have favoured the development of these types of housing within
particular parts of urban areas?
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3 (b) What problems might developers face in using brownfield sites for the type of
development shown in Figure 2b?
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Total for this question: 10 marks

4 With reference to an investigation that you have undertaken:

4 (a) (i) For one hypothesis that you tested, describe one method used to present the
data.

4 (a) (ii) State the advantages of using this method.
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4 (b) How did your results help to improve your understanding of the topic or environment
investigated?
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There are no questions printed on this page
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Question 1 Figure 1: © European Communities, 2007, Source: Eurostat
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Figure 2a
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Figure 2b
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